STUDER A807 MKIlI OPTIONS

NOISE REDUCTION SYSTEM CONTROL

20.807.946.00

Installation Instructions

NOISE REDUCTION SYSTEM CONTROL

20.807.946.00

Einbauanleitung

Prepared and edited by: STUDER (a division of STUDER REVOX AG)
TECHNICAL DOCUMENTATION
Althardstrasse 30, CH-8105 Regensdorf-Zurich

We reserve the right to make alterations.
Copyright by STUDER REVOX AG
printed in Switzerland

Order No.: 10.27.3250 (Ed. 0493)

STUDER is a registered trade mark of STUDER REVOX AG Regensdorf
STUDER ist ein eingetragenes Warenzeichen der STUDER REVOX AG Regensdorf

Order Nr. 10.27.3250 EDITION: 21. April 1993






STUDER A807 MKII OPTIONS

INSTALLATION INSTRUCTIONS TO OPTION 20.807.946.00
Noise Reduction System Control

Modification-Kit consisting of:
1 INTERFACE Board 1.727.686.00
1 Cable harness 1.727.266.00
1 Fixing rail 1.727.100.56
2 Z-Screw M3x6 IS 21.53.0354
2 Hexagon-socket headless screws 1.010.036.54
2 Claw washers 1.010.010.24
4 Lock washers M3 24.16.1030
7 Cabie ties 35.03.0107

Required tools

Allen screwdriver 2mm

Allen screwdriver 2,5mm

Hexagon-socket-head key or open-end wrench 5mm
Pair of side-cutting pliers

— —d b d

Installation

Remove the bottom cover and NRS control.
= Insert the cable harness through the NRS connector cutout and mount the
15-pin D-type connector as shown in the diagram.

= Swing out the hinged tape deck electronics board and guide the cable
harness through the rubber grommet in the cross member.

= Slide out the audio amplifier module and plug the NRS board on the edge
connectors J13/J14 from the audio control board.
(On TC machines J13 and J14 are occupied by connectors. These must be
transferred to the NRS board).
Install the board retaining rail and plug in the CIS connector EL05 GR45.
Plug the violet stranded wire into the connector housing, position 8, of the
connector EL0O4 GRO6 on the rectifier board.

= Secure the cable harness with cable ties and install the bottom cover.

EDITION: 21. April 1993 Order No. 10.27.3250 1



STUDER A807 MKII OPTIONS

Noise Reduction System Control

Nachrist-Kit bestehend aus:
1 INTERFACE Board 1.727.686.00
1 Kabelbund 1.727.266.00
1 Halteschiene 1.727.100.56
2 Z-Schraube M3x6 IS 21.53.0354
2 Sechskant Gewindebolzen 1.010.036.54
2 Krallenscheibe 1.010.010.24
4 Sicherungsscheibe M3 24.16.1030
7 Kabeibinder 35.03.0107

Zum Einbau benétigtes Werkzeug

Innensechskant Schraubendreher 2mm
Innensechskant Schraubendreher 2,5mm

Sechskant Steckschllssel oder Gabelschliissel 5mm
Seitenschneider

[T G G G Y

Einbau

m Bodenabdeckung und NRS Control Abdeckplatte entfernen.
= Kabelbund durch NRS Steckerausschnitt einziehen und 15 pol D-Type
Stecker gemass Zeichnung montieren.

s Laufwerk Electronics Board herausklappen und Kabelbund durch Gummi-
talle im Quertrager durchftihren.

m Audioverstarker Einschub ausfahren und NRS Board auf die Steckerleisten
J13/J14 vom Audio Control Board aufstecken.
(Bei TC-Geréten sind J13 und J14 mit Stecker belegt. Diese miissen auf das
NRS Board transferiert werden).
Board Halteschiene montieren und CIS Stecker ELO5 GR45 einstecken.
Violette Litze in Steckergeh&use Platz 8 von Stecker EL04 GR06 am Rectifier
Board einsetzen.

= Kabelbund mit Kabelbinder fixieren und Bodenabdeckung montieren.

2 Order No. 10.27.3250 EDITION: 21. April 1993



STUDER A807 MKIl OPTIONS

2r o1

o

v

o o
_yaoecoooecoooo

©o

Px

000000000
b ber

0000000 0

&

°

@ S
d o
N
NE °
J o o
o
R o
° o
°
4 ° o o o o © o
ofccoocoooooo0000000000] 0 o o ° o L
° 2zr o o
2 R
Cl ° o
B 5 o o
o ° o o + 29
o
\
e
S ool
HEER R
Errooood L3 °
. L ©0000000000000000 0O O ° o o o
(&3 S ; 0
* o o °© ° ©
oo o
o o o oo "o

Aw == = o @ ©
| ] TS val o o o
A=l s © °
°
A ° °
o B
B o o o
° o °
o cooco0000000000000 o o
< © b zer
o o
°
°
o
ooooooco:
.~ e
°
' °
« o o
o ° o o o o °
o ©° o o I
0[0600000000000060600000| © o o cocoo0o0000 000 60000000000000066000 0|
o €2r ° v
S o
2 ° ° °
o
00 ° 29
OOO
o0
o[[[]
mbmm_ o OOC
g8 N &
. ©0000000000000000 00 0 © ° ©0000000000000000000
* o b 2ke o o €4 e
3
R o o 6o o . .
° 3 ° oo o o
. o

Order No. 10.27.3250

EDITION: 21. April 1993



STUDER A807 MKIl OPTIONS

[{e]

n

_H Ay + A0S + APZ+ AGh+ AGH- LNY b2 cxdans | TP%

(O] vwoorl Vel vel vzl vzl Vil 4

=3 - . 3

2 T C1 3 ) 1 O © -

[ g = o
® | : - m - . gud ” m
N (N D D M RN g

_71 < 4 1 3

- - 1 3

I = Mool Ml (oeva ] —

I} ® M,_‘ m,No Lo 70 2 (= sza d =

™ = I , - I -

oL & O, 10,0 & | 1, ©

= *"lu i T i i O <. * * *
E Sy , . © & &
B © D LU |
Py < 00'589°2ZL'L
< %

10 ~ o

0 — S

Hm 00°0LELZL'L

N

~ 4

-I. 6 Mnuv L

a o 7/

< g8 7t

hm st{log ||g

@ @

o) ¥073

e 10HO

=

pd

(o]

O

172]

i

b

EDITION: 21. April 1993

Order No. 10.27.3250




STUDER A807 MKII OPTIONS

00-989° 224" 1 _xom_ QY08 T10d1N0D SAN |MTIAMLS
T 340 T 3o9d St dd9 b-L08 U 2-.08 U | 1 |
@) [@]| Ol @] um 1670182 @
Toovb PINGNT=D i 22~
g- vho EINdNI=D it 51~
E-v0— Zlndni—o i 817
oo TINGNI=0 i
8- br bt ST -
8- br b S
L- bp b - T -
JENIP N i i €T -
o R vogamE—o i 21~
- PONAS=D 1
TT- bp b Zoddza—o i %1~
2T~ 1r bt NS ST
ET- v0 Eodazao 9T
4 e EONASTO It &7
ST— br bt ToddIE—0 i
ST- +r = ToNAE— I ST
Ll- vl [SEC e
81— v0 oo E-
6T~ vr bt 3o 2T
02 ¥L Toas—o -
vSbS
CORE] g roreL e @™
81Nd
- b3
T 3449 01
ANTee x & ne-vz+
YTSLENT % 8
111111111 T
OS] O 3] o] 3] 3] o 3] I C -
...... I I 13F 2d edF »df sdF odF «J sd]
PT o .
18T od ane‘e+ T- zr b
: : AN 2- 20 b
L b o b0-ABG-8 E- 20 b+ [TH-
18 o b0-0TL-8 - 2r hi [ oW
—q | E o €0-A80-8 S- 2r b+ [EN
mo._.omzzoolw Lo €0-011-8 8- 2r hi—{pu}
Nid 12 o 20-A80-8 ¢~ 20 7 57}
(=4 lg o 2e-011-8 8- 2r b—{ O £l dEIYSINS
(=] : : 8- 20 h a3
© [ T0-A8Q-8 OT -~ 2r bt 79 =
0 1S o Te-271-8 1T~ 2r h———- 3d
© HR. H S 322 * 8 -
. ERE] o+
_H Tdao El ¥O1
¢ 00992 22T HA @0T :
Lo
I~ 17 é
iy T-er - GReer i 227
@] - Er nosT—— of
E- €0 o Ne ST+ 1 ¢
I b— EP b - 2T -
L S- € bt - 9T -
O S- Erf bt ‘et ST -
L~ EP bt - T -
e] 8- EF bt - ET -
md 6- €f b - 2T -
e} oT - £r p—t f— TT -
TT- E0 b - 0T -
x 2T - Ef B~ RER-
|- €T- Ef b= I35 8-
- bT— Er b oo -
I ST- Er bt woI—o . S
Q ST- £r bt S35 ST
¢ LT- EL o SIiiNio = Y-
..u ADI 8T - Er b - -
(7] 6T - EQ b "o ST 2~
(el 0z~ £f h Gho6r o3 1T
.

QOrder No. 10.27.3250

EDITION: 21. April 1993



STUDER A807 MKII OPTIONS

NRS CONTROL CONNECTOR 1.727.619.00

1 B-DBY-01
1% o 2 B-DBY-02
o 3 B-DBY-03
o ° 4 B-DBY-04
o ° 5 B-TLC-01
° 6 B-TLC-02
° 0 7 B-TLC-03
° 0 8 B-TLC-04
. ® ols 9
o 10
\— 11
12 Key
13
14 4240V
15 +0,0V

D-Type Connector 15 Pol Female

6 Order No. 10.27.3250 EDITION: 3. Mai 1993



